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QUESTION 1

DBAs are spending an enormous amount of time trying to identify and fix SQL statements they are suspect have
regressed as a result of system changes not documented by the Operations Team. What would you implement to
resolve this problem?

A. Complete Oracle Enterprise Manager suite

B. SQL Performance Analyzer which helps predict and prevent SQL execution performance problems causedby
environment changes

C. SQL Plan Manager which uses system histograms to extrapolate future SQL execution performance
D. Oracle Database Backup and Recovery
E. Oracle SQL Developer, which helps develop and test the SQL prior to putting it into production

Correct Answer: B

QUESTION 2

You need to limit the resources available to each Pluggable Database (PDB) within a Container Database (CDB).
Utilizing Resource Manager, which are three options that can be managed by a resource plan?

A. memory

B. CPU

C. Parallel Execution Servers

D. shares of systemresources
E. number of users

F. number of tables or indexes
G. number of indexes

Correct Answer: BCD

QUESTION 3

An Oracle Database customer\\'s VP of Development mentions that they\\'ve moved to AGILE development
methodology and DevOps requires an ability to view, test, or validate performance in their own development
environment. Which two do you implement?

A. Oracle Application Infrastructure Tester

B. Oracle Application Testing Suite

C. SQL Developer
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D. Oracle Real Application Testing
E. APEX and SQL Developer
F. Oracle Testing Pack

Correct Answer: BD

QUESTION 4

When performing performance analysis of Oracle Real Application Cluster (RAC) databases, what are three Automatic
Database Diagnostics Monitoring (ADDM) analysis modes that are available?

A. Database
B. Instance
C. Partial

D. Sample
E. Average

Correct Answer. ABC

QUESTION 5

Which are two kinds of statistics collected and processed by the Automatic Workload Repository (AWR) you would
utilize when tuning an Oracle Database instance?

A. Wait Event statistics

B. Session and System statistics

C. User privileges statistics

D. Standby Database throughput statistics
E. Interconnect statistics

Correct Answer: AD
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